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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

gh §—1
(UNIT—1)
RGP & T IeT F1 § ? R GBI A off ?
What are the main objectives of Accounting ? Are there any
branches of accounting ?

34T

(Or)
gAY o Frafeiad 2 (ol & 12T Jra ?

(i) 9 HI W EF T BT T |

P.T.O.
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(i) FOE & T W B 9T duTe @y |
(i) 9% BT A T BIAT DT IR F AN |
(iv) T TE T & fon e #oed 2 |
(v) @i @ w9 ura <l
(vi) A & H9 W LI 9IS |
(vi) ¥ TR & fapg F g Il
(viii) T HHAN B dlc o W & T afergfd & /0|
(ix) 3 & T W Y 1|
(x) TSR W HAr Ty fagme e |

Explain whether the following items are capital or revenue ?
(1) Legal expenses for the purchase of land.

(i) Legal expenses for the issue of debentures.

(i11) Cash sent to bank stolen on the way.

(iv) Wages paid in the erection of a new machine.

(v)  Amount received on sale of goodwill.

(vi) Carriage paid on goods purchased.

(vil)) Money received on sale of waste paper.

(viii) Compensation paid to an employee for injury caused.
(ix) Amount received on forfeiture of shares.

(x) Advertisement expenses to launch a new product.
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2. 31 9, 2019 I 5 TIM AR & WE-gf AR 2 -

A & . Iy 1. Ay
®) ®)
RIS bl 40,000 —
ERRGREED) 1,20,000 1,70,000
U 30,000 —
1 T 13,000 —
BT H dS 40,000 —
LEER 30,000 —
qad 20,000 —
fagmo= 8,000 —
CRINE] — 4,000
3Ty T 2,000 —
HIRY 80,000 —
TGR U4 oFGR 1,02,000 80,000
SRR 10,000 3,00,000
TG 1,25,000 —
<7 faum — 10,000
T — 30,000
5 ey — 26,000
qnT 6,20,000 6,20,000
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HEAS :

(i) 31 A, 2019 T 3~TH el BT I 80,000 & |

(i) 991 @ H T 3,000 AR B Sfiaq i1 et @t foea
@ wafeAferd |

(ili) 1 TR, 2018 BT TH AN T 20,000 H IUR TG
T ST IooRg ofET qRad! # T foar T € |

(iv) T TR 10% TR I aeravr $1 SIS Bl 2 |

(v) U UES Gl T 4,000 1 F oA, F A A A
&ad 2,000 T U Y o |

(vi) TAERI W e Feomef SIS 5% BT 2 |

31 9T, 2019 BT SUYGd AN Bl &IF H W& §Y (i) ATIR

GIAT U4 T8I @1ar 1 (i) fgT TR S |

The following is the Trial Balance of Shri Shyam Kumar as

on 31st March, 2019 :

Name of Accounts Dr. Balance | Cr. Balance
(] ()
Opening Stock 40,000 —
Purchase and Sales 1,20,000 1,70,000
Furniture 30,000 —
Insurance Expenses 13,000 —
Cash in Hand 40,000 —
Wages 30,000 —
Salary 20,000 —
Advertisement 8,000 —
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Commission — 4,000
Bad Debts 2,000 —
Machinery 80,000 —
Debtors and Creditors 1,02,000 80,000
Drawing and Capital 10,000 3,00,000
Building 1,25,000 —
Bills Payable — 10,000
Loan — 30,000
Bank Overdraft — 26,000
Total 6,20,000 6,20,000
Adjustment :

(i)  Stock on 31st March, 2019 was valued at ¥ 80,000.

(i) Insurance expenses includes ¥ 3,000 as a premium of

Life Insurance Policy of proprietor.

(iii) On 1st October, 2018 a machine was purchased on
credit for ¥ 20,000 but not recorded in the books of

accounts.

(iv) Depreciation on machinery is to be charged at 10% per

annum.

(v) Received T 2,000 as final payment from a debtor who
is owed for T 4,000.

(vi) Make a provision for bad and doubtful debts on debtors

at 5%.

Prepare (i) Trading Account and Profit & Loss Account and
(i1) Balance Sheet, keeping in view the above adjustment on

31st March, 2019.

P.T.O.
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3fera
(Or)
aYEA UL F MW IRIY| SRIfEA B FER B
faftT faftrat o1 avi B |

Write the meaning of rectification of errors. Describe various
methods of rectification of errors.

THE—3

(UNIT—3)
1 310, 2016 BT FEY 7 % 20,000 § 3 99 @I 3@ & fov vH
Tgl o oiR I8 T 51 16 5% @ R ¥ @ I gu
qId g7 TgfT | oraeryer sufead foam S| 3 1 @ i
giT 39 99 & foy 5% @ W 2 0.367208 B |

TSl Wil 3 991 & folv 93¢ SR Ui 9¥ am-gie Wi W
e AR @y |

On Ist April, 2016 Mahesh acquired a lease for a period of
three years for T 20,000 and decided to write off depreciation
by annuity method charging interest at 5%. The annuity to
provide for X 1 for three year at 5% interest I 0.367208.
Prepare the leasehold account for three years and show the
annual net charges to Profit & Loss Account for each year.
3feqdr
(Or)
- WIe 1 2 ? - Il AR WY @il 1
T faRivamell &1 auie Hifo |
What is Income and Expenditure Account ? Explain the
basic features of Income and Expenditure Account and
Receipts and Payments Account.
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THE—4

(UNIT—4)
1 37, 2014 BT S AICX &, fORRAT HY Ugfd W AR an
I U G 7 | AR AR B AdS BT T 1,150 B[ T 150
T JIAH @R e T SR W % 200 YR q¥ + 5% i
N R D A AT O g | 9 AI] &, 10% g iay
PTG B UG W ol g1 9 Ay @, @ gead) |
MRS T g5V |

On 1st April, 2014 the Bombay Motor Co. obtained motor
lorry on hire-purchase system. The cost price of the motor
lorry was ¥ 1,150. Payment was to be made as I 150 down,
and as to balance at ¥ 200 per year with 5 percent per annum
interest. The Bombay Motor Co. write off 10% p.a.
depreciation on diminishing balance system each year.
Prepare necessary Ledger Accounts in the books of Bombay
Motor Co.

34T

(Or)
[hed M UGld &1 R AR & ° R HFUSA AR
e I UGl H R =R 8 7
What is meaning of Instalment Payment System ? What is

the difference between Hire-Purchase System and Instalment
Payment System ?

IPE—5
(UNIT—S)
A, B 3R C 9ERRI 4 dM-8I R o H dfed )
31 W, 2018 @I IHT FUffhd fIgT o

P.T.O.
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- Iy
®
oER 13,000
B &1 0 2,500
<7 fauz 500
T Y 3,000
A @ 9T @Tal 1,500
B &1 ] &Il 1,500
1
A : 20,000
B : %10,000
C : %10.000 40,000
grT 62,000
—— B
®
NETS 1,500
TR 12,500
=hee] 29,000
TR 1,000
EIEN] 5,000
C @1 dTef, @1 3,000
@y 10,000
grT 62,000
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T @ Al W AR & e fefoRad yew foar
() A CFERI B TAN G & foly Aewd & a7 |

(i) B W% BT T 25,000 F o form|

(iii) C+ @fq ®r T 15,000 o forrm|

(iv) <3 fUal &1 I 210 FEA W G & 74|

(v) ¥ 9HRnEl @ 315,000 9 gU | WA @3 % 120 §U |
(vi) B® T BT YA R {1 77|

Tl GIAT, B & KU G, 46 @A), WEER & 9l @
IR EENGR CIRCIRCR MY

A, B and C are partners sharing profits and losses equally.
On 31st March, 2018 their Balance Sheet was as follows :

Liabilities Amount
()

Creditors 13,000
B’s Loan 2,500
Bills Payable 500
Reserve Fund 3,000
A’s Current A/c 1,500
B’s Current A/c 1,500
Capital A/c :

A : T20,000

B : 10,000

C : 10,000 40,000

Total 62,000

P.T.O.
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Assets Amount
]

Cash 1,500
Debtors 12,500
Stock 29,000
Furniture 1,000
Machinery 5,000
C’s Current A/c 3,000
Goodwill 10,000

Total 62,000

On the date of dissolution the following arrangements were

made among the partners :

(1) A agreed to pay creditors.

(i) B take over the stock at valuation of ¥ 25,000.
(ii1) C take over goodwill at ¥ 15,000.

(iv) Bills payable were paid off ¥ 10 less being allowed for
discounts.

(v) The remaining assets were realised ¥ 15,000. Expenses
of realisation amounted to T 120.

(vi) B’sloan was also paid off.

Show the Realisation Account, B’s Loan Account, Bank

Account, Partners’ Current Accounts and Partners’ Capital

Accounts.
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3rerar
(Or)
AEER BH & THIORYT & AT AW & 2 6 & DI &
S BT WE B |

What is the meaning of amalgamation of a partnership firm ?

Explain the objects of amalgamation of the firm.
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